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1. CutimbpsS IpSpw_Øns‚ t]sc¥v?
A.Xncp°pSp_w B. ]dpZok C. tZhmebw

2.  ⁄m\Ønepw {]mbØnepw ssZhØns‚bpw a\pjycptSbpw {]oXnbnepw hf¿∂ph∂Xmcv?
A. BZw B. tami C. Cutim

3. `qanbnse kz¿§w FhnsSbmWv?
A. IpSpw_Øn¬ B. ssZhmebØn¬ C. k-vIqfn¬

4. \ap°v IpSpw_w \¬InbXmcv?
A. adnbw B. ]nXmhmb ssZhw C. butk∏nXmhv

5. Cutim hkn°p∂sXhnsS?
A. ssZhmebØn¬ B. NoØ Iq´p-Im¿  C. \cIØn¬

6. alØmb Hcp ]pWyamWv?
A. tZjyw B. A\pkcWw C. \pW

7. amXm]nXm°tfmSpw apXn¿∂htcmSpw \mw Fßs\ s]cpamdWw?
A. hg°v IqSWw B. tZjys∏SWw C. Ahsc A\pkcn°Ww

8. hnip≤cmIm\p≈ Ipdp°phgn F¥v?
A. kpIrXP]ßƒ B. IYIƒ C. Iq´pIm¿

9. {]mbambhtcmSv \mw Fßs\ s]cpamdWw?
A. A\pkcWt°Sv B. Ahsc _lpam\n®p sIm≠v C. hg°v IqSns°m≠v

10. 9˛mw ]mTØns‚ t]sc¥v?
A.  kvt\lw B.  amXm]nXm°sf A\pkcn°p∂ Cutim C. {]m¿∞\


